ECS 315: In-Class Exercise # 4

Instructions Date: 30/ 08/2018
1. Separate into groups of no more than three persons. The group cannot be the same Name I D (last 3 digits)
as any of your former groups. Prapun 5 5 5

2. Write down all the steps that you have done to obtain your answers. You may not get
full credit even when your answer is correct without showing how you get your
answer.

3. Do not panic.

In each of the parts below, find P(A), P(B), and P(ANB).

(a) P(A°)=05, P(B°)=0.7,and P(AUB)=0.6.
P(A)=1-P(A)=1-0.5 =0.§
P(B) =1-P(8")=1-0.3=0.3
From , PLAUD) = PLA) +P(B) - P(ANB)
'r‘l—se,mfofc, PLANB) = PLA) +P(R)-P(AVUD) =0.5S+0-3 -0.-6 =0-2
P(A)= 0.5 ,P(B)= 0.3 ,and P(ANB)= 0.2 .

(b) P(A°NB°)=0.1, P(ANB) =02, and P(A°B)=03.
Lt )

/ H""J we musk lewve E =02 +0-9
0.1+0.2 + PFLANB) +0.3 =1. i =06 .
Theefore, FLAAB) =0+ i P(®) =P(ANB)+P(AnD)

=04+ 03
= 0.3

P(A)= 0.¢ ,P(B)= 0.% ,and P(ANB)=0.4 .

(c) P(AUB)=043, P(AUB®)=0.62, P(A°UB)=0.97.
P(ANB)=1-PAURY = {-0.43 =0.57
P(A‘n B) = 1‘P(AUB") =1-0.62 =0.2%

C
P(ANR) =1-p(AUD)=1-0.97 =0.03

We knows Hrat PLOL) =1 {PLA) =PLAAE) + PlANB)
/ H"‘; we rmusk lhave i =0.03r0.02
0.5+ 0.03+ PLAAB) + 0.3 =1. i =0.05 .
Thm.f-owe, PLAAB) =002 i P(B) =P(AB)+P(AnB)
=0.02% O.>¥
= O‘T

P(A)=0.05 ,P(B)=0.-4 ,and P(AnB)=0.02 .



ECS 315: In-Class Exercise # 4 Alternative Solution

: Date: /08/2018
Instructions 30/08
1. Separate into groups of no more than three persons. The group cannot be the same Name I D (last 3 digits)
as any of your former groups.
2. Write down all the steps that you have done to obtain your answers. You may not get Prapu n 5 5 5
full credit even when your answer is correct without showing how you get your
answer.

3. Do not panic.

In each of the parts below, find P(A), P(B), and P(ANB).

(a) P(A°)=05, P(B°)=0.7,and P(AUB)=0.6.

A B P, =0.4
PatPL =07 > pyroe3

P.*Pa*lfy =0-6 Ps=0-2

™ Ps =0.1

PaTP2TPat Py =
P(A)= 6.6 ,P(B)= 0.2 ,and P(ANB)= 0.2 .

Po¥ P2 Pa tPu Fs
(b) P(A°B%)=0.1, P(ANB*)=0.2, and P(A° B)=0.3.

A B
Py=0.2
Py=03
P1 PaTPetPstPy=! P P3=1-0.1-0.2 -0.3=0.4
Pot Pq Pa *Pu Fs

P(A)= 0.6 ,P(B)= 0.7 ,and P(AnB)= 0-4 .

() P(AUB)=043, P(AUB®)=0,62, P(A°UB)=097.

A B
P1 =0.5%
PirP2tPa = 0.b2 Py =0.03
P, *Pst+rPy=09% Fa=0.02
P PrTraTPst Py =1 Pu =0.28
Pot P Pa tPu Fs

P(A)= 0.05 , P(B)= 0.40 ,and P(ANB)= p.o2 .



